Previous Paper (Solved)

IP-BBA Entrance Exam, 2011

ENGLISH LANGUAGE AND COMPREHENSION

Directions (Qs. 1-8j: Read the passage carefully
and answer the guestions given below
Although speech is generally accepted as the most
advanced [orm of communication, there are many
ways of communicating without using words. In
every known culture, signals, signs, symbols and
gestures are commonly utilized as instrument of
communication. There is a great deal of agreement
among communication scientists as to what cach
of these methods is and how each differs from the
others. For instance, the basic function of any
signal is to impinge upon the environment in such
a way that it attracts attention, as, for example, the
dots and dashes thal can be applied in a telegraph
circuit. Coded to refer to specch, the potential for
cormmunication through these dots and dashes—
short and long intervals as the circuit is hroken—
is very great. Less adaptable to the codification of
words, signs also contain agreed upon meaning;
thal is, they convey information in and of themselves.
Two examples arc the hexagonal red sign that
conveys the meaning of stop, and the red and
white swirled pole outside a shop that
communicates the meaning ol barber.

Symnbols are more difficult to describe than
either signals or signs because of their intricate
relationship with the receiver's cultural perceptions.
In some cultures, applauding in a theater provides
performers with an andhory symbol of approval.
In other culwures, il done in unison, applauding
can be a symbol of the audience’s discontent with
the performance. Gestures such as a waving and
handshaking alse communicate certain cultural
messages.

Although signals, symbols and gesiures are
very useful, they also have a major disadva-

: L atage
in communication. They usually do not - atag
_atlow ideas

to be shared without the sender being directly
adjacent to the receiver. Without an exchange of
ideas, intcraction comes to a hall. As a resolt,
mecans of communication intended (o be used across
long distances and exiended periods must be based
upon specch. To radio, television, and telephone,
one must add fax, paging systems, clectronic mail,
and the internet, and no one doubts but that there
are more means of communication on the horizon.

1. Applauding was ciled as an example of
A, a signal B. a sign
C. a symbol D. a gesture

2. The word ‘imiricate’ in paragraph 2 could
best be replaced by which of the following?
A, inefficicnt B. complicated
C. historical ). uncertain

3. The word ‘potential’ in paragraph | could
be replaced by
A, range
C. organizzidon

B. advantage
D. possibility
4. The word “it" in paragraph | refers to
A. function B. signal
C. environment D. way
§. The phrase impinge upon in paragraph 1 is
closest in meaning to
A, intrude B. improve
C. vary D. prohibit
6. What does the author say about speech?
A Ttis e oply true form of communi~
B. It s dependent upon the adv
by inventors
C. Itis necessary for
D. It is the
com™
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14. According to the passage, the net gains pursued

by managers are at the cost of

A diversification, modernization and asset
creation

B. avaijlability of markets for industrial and
consumer products

C. inflation and industrial sickness

D. liberalization of imports and increasing
competition

15. Which of the following short comings of

Indian industrialists has bcen highlighted

by the author?

A They invest unreasonable high amount
on diversification an cxpansion

B. They are more concerned for immediate
net gains than for developmental activities

C. They arc reluctant to maintain the
shopkeeper mentality

D. They are less concerned for payment of
dividends to shareholders

Directions (Qs. 16-21): In each of the following
guestions, out of the given alternatives, choose
the one which best expresses the meaning of the
given word.

16. IMMACULATE

A, refined B. pure

C. faithful D. splendid
17, EBULLIENT

A Gilted B. Enthusiasiic

C. Luscious D. Arrogant
18. IGNOMINIOUS

A shameful B. fruitful

C. unexpccted D. expected
19. INNOCUOUS

A harmless B. insidious

C. insolvent D. invasion
20. CHICANERY

A choleric B. cogent

C. trickery D. conless
21, CHAGRINED

A Tlrustraled B. annoved

C. disappointed D. tired

Directions (Qs. 22-27): In the foilowing questions,
choose the word opposite in meaning to the given
word,

22. SERVILITY

A, bravery B. prudence

C. insolence D. slavery
23, KNOTTY

A. involved B. intricate

C. casy D. assuming
24, DEARTH

A. cxtravagance B. scarcity

C. wvelocity D. abundance
25. VEHEMENCE

A. apathy B. passion

C. eagerness D. ascent
26. PLACATE

A, antagonize B. pity

C. amuse D. embroii
27. PEIORATIVE

A. soothing B. appreciative

C. smoothing D. critical

Dircctions (Qs. 28-32); Fill in the blanks in the
Jollowing  sentences by selecting the most
appropriate alternative from amongst the given
choices under each sentence.

28. The police confronted the thief ............ the
accusers.
A with B. at
C. upon D. to

29, Civilization, in real sense of the term consists
not in the ............ but in the deliberate and
voluntary ........... of wants,
A. increasing ........... decreasing
B. increment ............. decrement
C. muHiplication .......... reduction
D. hoarding ............ dehoarding

30. That rumour has no foundation ......... fact.
A, of B. up
C. to "D. in

31. In all these and a thousand other details you
and I plcase ourselves and ......... .

ask of no one’s leave

ask no one’s leave

ask leave ol no one

ask from any one no leave

vaowe















95. ‘D’ is the son of “J* who is son of *F". ‘P is
the daughter of *R”. If ‘N’ is the sister of ‘P’
and daughter of ‘J* what is *J’s’ relationship

with ‘R’?
A Husband B. Brother
C. Father D. Uncle

96. Madhuri is the wift of Rajesh and Rajesh is
the brother of Mahecsh. Mahesh is the uncle
of Pranay. What is Pranav’s relation with

Madhuri?
A. Daughter B. Nephew
C. Sister-in-law D. Niece

97. Introducing a woman, a man said, “Her
mother's husband’s sister is my aunt.” How
is the man related to the woman?

A Nephew B. Brother
C. Uncle D. Cousin

Directions (Qs. 98-101): Read the following
information carefully and answer the questions
given belaw it
Five friends Ramesh, Suresh, Mahesh, Dinesh and
Ganesh are sitting on a bench.
(i) Ramesh is silling next to Suresh.
(ii) Mahesh is sitting next to Dincsh.
(iii) Dinesh is not silting with Ganesh.
(iv} Ganesh is on the lcft end of the bench.
(v} Mahesh is on second position from right,
(vi} Ramesh is on the right side of Suresh and to
the right side of Ganesh,
(viii) A and C arc silting togcther.
98. What is the position of Suresh?
A Second from right
B. Centre

C. Extremc left
D. Second from left
99, At what posilion is Ramesh sitting?
A. Between Surcsh and Mahesh
B. Between Dincsh and Mahesh
C. Between Ganesh and Dinesh
D. Between Mahesh and Ganesh

100. What is the position of Dinesh?

A, Extreme left
C. Third from lcft
101. Who is sitting at the ceptre?
A, Ramesh B. Suresh
C. Mahesh D. Dinesh
102. Akash was born on 3rd March 1980. Sanjiv
was born 4 days before Akash. The Republic
Day of that year fell on Saturday. Which day
was Sanjiv’s birth day?

B. Extreme right
D. Sccond from left

A, Wednesday B. Friday

C. Thursday D. Tuesday
103. Which of the following is a lcap ycar?

A 1982 B. 1978

C. 1704 D. 1945

164, If {5 apples and 20 oranges cost as much as

20 apples and 15 oranges. How do you
compare the costs of two?
A. Apples are as costly as oranges
B. Oranges are costly than apples
C. Apples are costly than oranges
D. None of these

i05. A, B, C, D and E distribuie some cards among
themselves in a manner that A gets one less
than B; C gets 5 more than D; E gets 3 more
than B while D gets as many as B. Who geis
the least nuinber of cards?

A B B. C
C. D D A

106. What number in the dice, given below, will
be on the side opposite 1o 67

A2 B. 3
[ONN D 5

Directions (Qs. 107-109): In the following questions,
there are four options. Find out the one thar is
correct in verification of the given stafement.

107, Escalators help in
A vertical movement only
B. horizontal movement only
C. vertical and horizontal movement
D. circular movement only



108. Which one of the following is always
associated with “Justice’?
A Hypocrisy B. Magnaminity
C. Legitimate D. Diminutiveness
109. Which onc of the following is always in
‘Sentiment’?
A. Cruelly B. Insight
C. Neutrality D. Emotian

Directions (Qs. 110 and 111): in the following
questions, find out the most suitable answer,

110. The Selection Board call the candidates for

the interview because

A. they want to see the candidate’s physical
appecarance

B. it is then easter o decide which candidate
is fit for the job

C. the members of the Sclection Board have
no other work during office hours

D. None ol the above
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111. Now a days many young pecople use high

heeled shoes because

A thesce shocs increase the heights of the
young people

B. it comes under fashion

C. it is safer for them to wear these types of
shoes

D. they practice to balance their bodies alter
wearing such shoes

112. At what angle the hands of a clock are

inclined at 15 minutes pasts 57
A 72%° B. 67%"
C. 58%° D 64°

Today is Wednesday, what will be the day
after 94 days?
A. Monday

C. Wednesday

113.

B. Tuesday
D. Sawurday

MANAGEMENT APTITUDE AND COMMUNICATION SKILLS

114, Hukumchand Jute Industries Ltd. owned by
the v

A Tatas B. Munjals

C. Birlas D. Bajaj

The ..o, cstablishes the framework within
which the divisions and business units prepare
there strategy plans.

A. market oriented strategic plan

B. pianning and controlling

C. corporate strategy

D. contingency planning

Which of the following activities is not a
business ......... 7

A A company selling a car

B. An individual selling his own car at profit
C. A dcaler sclling a car

D. None of the above

Who said that “Communication always [ails
except for chance™?
A. Murphy

C. Henry Ford

115.

116,

117,

B. Peter Ducker
D. Chris Lewis

118. The Banking Regulation Act was passed in

............. the Central Banking Enguiry
Commission,

A 1948 B. 1951

C. 1949 D. 1952

119, Mirzapur (U.P.) is famous for its
A. Cotton Industry
B. Hand made carpets
C. Lecather Industry
D. Sugar Industry

120. Which brand of photocopicr uses the slogan
“Every Copy is An Original™?
A Canon B. Modi Xerox
C. Ricoh D. HCL

121, A bottomn up communication is thc message
sent hy
A Management to employees
B. Manager to employees
C. Senior  management
management
D. Lower management to top management

middle

142






137,

138.

139,

149,

141.

142,

143. ......e.

Balance Sheet shows the

A. Balances of all accounts

B. Net Profit earned during a period
C. Financial position of a business
D. None of these

Which of the following makcs communication
effective?

A. Notice boards and dlsplays

B. Communication by trade unions

C. Suggestions and Feedback

D. None of the above

When the message is sent from a Functional
Head to another Functional Head, it is called
A. Functional Communication

B. Horizontal. Communication

C., Vertical Comﬁlunicagion

D. None of the above .

Which of the following are Indian

Multinationals? ' ' -

A Asian paints, Ceat Tyres, Larson and
Toubro India

B. Asian Paints, Daﬁur india, Hmdustan :

Uniliver
C.
Amro Bank

D. Asian Paints, Ranbaxy, Honda group

Which of the foliowrng 1s a Blue Ch:p.'

company? - _ AT
A Balmar Lawrie. N
B. ABN Amro Bank. B

C. Indian Drugs Pharmaceutlcals Lud.

D. Jindal Iron and Steel :
Which one of the following Communication
is part of Corporate Governance?

A Disclosure and Transparency

B. Transparency and Accountability

C. Transparency and Policy Decision

D. None of the above

is typically seen as the take of
creating, promoting, and delivering goods
and services 10 consumers and business.

Asian Paints, Aditya Birla Group. ABN

1]

144.

145.

146.

147.

148,

. 'A Madras

149.

A. Marketing
C. Promotion

B. Advertising
D. Selling

The new economy focuses on
A. no promise, great delivery
B. under promise, over delivery
C. great proimnise, great dclivery
D over promise, under delivery

...........

Liquid Assets are equal to

Value of ali current assets

Sum of Cash and Bank balanccs
Current assets — Inventories

Current assets ~ Inventories and Prepaid
Expenses

vows

To carry out their analysis, planning,
implementation, and control responsibilities,
marketing managers need & ........ .

A Planping and controlling sysiems

B. Managing Information System

C. Delivery systems

D. Marketing Information System

Bombay Spinning and Weaving Company
Ltd. was established in 1851 by ........... .
A Cowasjee Nanabhoy Davar

Jamshed;ji Tata

Digambar Parsuram-Dandekar

LC. Java.

................ was the first city to go electric
when it received power in. 1899
"B. Bombay

C. Delhi ‘D." Calcutta

The maximum numbt.r of members in a

© private company are .......... .

150.

A, Twenty B. Thirty
C. Fifty D. No limit

A certificd copy of the statutory report is
also sent o

A Government of respective siate

B. Registrar of companies

C. Governor of the state

D. None of these
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ANSWERS
2 3 4 5 6 7 8 9
D D B A D C B D
12 13 14 15 16 17 18 19
D B B C B B A A
22 23 24 25 26 27 28 29
C C D A A B A C
32 33 34 35 36 37 38 39
B D A A B D C D
42 43 44 45 46 47 43 49
C D C B B A D A
52 53 54 55 56 57 58 59
A B D A B A B C
62 63 64 65 66 67 68 69
A C C B C C C D
72 73 74 75 76 77 78 79
B D A D A C C B
82 83 84 85 86 87 88 89
A A A C D D D C
92 93 94 95 96 97 98 99
B A A A A D D A
102 103 104 105 106 107 108 109
C C A D c A C D
112 113 114 115 116 117 118 119 -
B D A C D A C B
122 123 124 125 126 127 128 120
D "B A A C D C D
132 133 134 135 136 137 138 139
B B D D B C C C
142 143 144 145 146 147 148 149
C A e} B D A D C

SOME SELECTION EXPLANATORY ANSWERS

77. mi  rei —  less ‘ play

et

koi puihi mesi — ground and play tour

puihi- meri —  less ground  play tour

puihi . mati  — @ cup ground

From (i) and (iv) jo = work/no and ma = work/no
Hcence, code can not be determined,
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78.

79.

80.

§1.

82.

B3.

85.

86.

87.

X Z i A
Hence, S>Qp<l)

T T ) R
CORRESPONDENTCE
R EEEEEEEER
NUTTRAXUPQRPNR R
Hence, S C O P E

ANUXR
The given word in question do not have any

relation. Similarly, Eyeglass and Landmark
also do not have any retation,

Hope and Aspircs are the pair of synonims.
Similarly, Fib and Lic are also the pair of
synonims.

Ancient and Modern are the pair of antonims.
Similarly, often and Scldome arc also the
pair of antonims.

8x3+§=28
2

Hence, 18x3+l~2§=63

KN e N
ML ONG QP S

15 x 3 =45 2160 x 40 = [8640]

45 x 2 =90 but in the given
90 x 4 = 360 question it is 6480.
360 x 3 = 1080
1080 x 2 = 2160

Correct form of the series is :

)’ yx .r Xy x yX )X y
7776 = 6=1296 | 36-6=6
1296 < 6 = 216 6+6:m
216 + 6 = 36

89. Both the arrow at ¢nd chanpe in oppostic
direction.

i
90. The line scgment tuens 43°, 45°, 225“

clockwise respectively. Hence, in the next

figure the line segment will turn again 22 E“

clockwise.

91, An arrow includes from inside the circle.
Again it incfudes from out side. This process
will continue and in the answer figure two
arrows will be from inside and two arrows
from outside alternatively,

40 m North
92. T 20m West East
30
40 m South
120 km . North
9. 30 km West ‘——I—»Easl
80 km ¥ South
14 km
94, ! T——— North
13km  West East
F—p——— ¥ South




t4

E=B+3 ~E>B

D=B

Hence, A<B=D«<CandB <E
Therefore, A gets the lcast number of can

96.

5

166. 3 6 4

2

0

$13. %M4=13x7+3
It means after 91st day the day will be sa
108. A=B-1 -~ A<B day ie., Wednesday. Hence, alter 94th ¢
C=D+5 ~C>D the day will be Saturday.






